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Roll NO........cccevvnenenn.

Time allowed : 3 hours Maximum marks : 100
Total number of questions : 6 Total number of printed pages : 7
NOTE : 1. Answer ALL Questions.

2. Tables showing the present value of ¥1 and the present value of an annuity of
<1 for 15 years are annexed.

1. Comment on the following :

(@ Financial distress is different from insolvency.
(b) Treasury management has both macro and micro aspects.
() As there is no explicit cost of retained earnings, these funds are free of cost.
(d) Banks should lend prudently and with care.
(5 marks each)
Attempt all parts of either Q.No. 2 or Q.No. 2A
2. (8 Distinguish between 'explicit cost' and 'implicit cost'.
(4 marks)
(b) Write a note on domestic resource CoOst.
(4 marks)
(c) Distinguish between 'ask price’ and 'bid price' in foreign exchange.
(4 marks)
(d) Explain the concept of sensitivity analysis.
(4 marks)
OR (Alternate question to Q.No. 2)
2A. (i) Discuss the mark-to-market settlement of index futures.
(4 marks)
(i) High return on investment (ROI) indicates efficient use of assets. Comment.
(4 marks)
(iii) Describe functions of treasury management.
(4 marks)
(iv) Write a note on credit default swaps.
(4 marks)
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3 @

(b)

3A. (i)

(i)

Attempt all parts of either Q.No. 3 or Q.No. 3A

Apoorva Ltd. has assets of ¥32,00,000 that have been financed as follows :

4
Equity shares of I100 each 18,00,000
General reserve 3,60,000
Debt 10,40,000

For the year ended 31% March, 2014, the company's total profits before interest and
taxes were 36,23,000. The company pays 8% interest on borrowed capital and the tax
bracket is 40%. The market value of the equity as on 31% March, 2014 was 3150 per
share.

From the above, determine the weighted average cost of capital using market values
as weights.

(8 marks)
Bharati Fibre Products produces a specia fibre at the rate of 5,000 metres per hour.
The fibre is used in other products made by the company at the rate of 20,000 meters
per day. Cost of fibre is I5 per metre. The inventory carrying cost is 25% and
set-up costs are ¥4,050. Compute the optimum number of cycles required in a year for
the manufacture of this special fibre. Working hours per day are 8 hours. Assume
365 days in a year.

(8 marks)
OR (Alternate guestion to Q.No. 3)

Verona Enterprises Ltd. purchases 2,000 units of a particular item per year at a unit
cost of 20. The ordering cost isI50 per order and the inventory carrying cost is 25%.

(@ Determine the optimal order quantity and minimum total cost including purchase
cost.

(b) If a 3% discount is offered by the supplier for purchases in a lot of 1,000 or
more, should the firm accept the offer ?

Anurag has invested in a share whose dividend is expected to grow @ 15% for 5 years
and thereafter @ 5% till life of the company. Find out the value of the share, if current
dividend is %4 per share and investors required rate of return is 6%.
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(iii) An Indian importer company has to settle an import bill of $1,30,000. The exporter has
given the Indian importer two options :

(@ Pay immediately without any interest charges; or

(b) Pay after three months with interest @5% per annum.

The importer's bank charges 15% per annum on overdrafts.

The exchange rates in the market are as follows :

Spot rate for $1 : 348.35 / ¥48.36

3-month forward rate for $1 348.81 / ¥48.83

The importer company seeks your advice. Give your advice with reason.

(iv) Snowman Enterprises is considering the possibility of manufacturing a particular
component which at present is being bought from outside.

The manufacture of the component would call for an investment of ¥7,50,000 in a new
machine besides an additional investment of ¥50,000 in working capital. The life of the
machine would be 10 years with a salvage value of ¥50,000. The estimated savings
(before tax) would be ¥1,80,000 per annum. The income-tax rate is 50%. The company's
required rate of return is 10%. Depreciation is provided on straight line basis.

Suggest the firm whether this investment be made or not. Show your workings.

(4 marks each)

4. (@ A company, whose current sales are ¥15,00,000 per annum and average collection
period is 30 days, wants to pursue a more liberal credit policy to improve the sales.
The following data are available :

Credit (period) Increase in collection Increase in
policy period (Days) Sales ()

A 15 60,000

B 30 90,000

C 45 1,50,000

D 60 1,80,000

E 90 2,00,000

The selling price per unit is I5. Average cost per unit is ¥4 and variable cost per unit
is¥2.75. The required rate of return on additional investment is 20%. Assume 360 days
in a year and nil bad debts loss.

Which of the above policies would you recommend and why ?
(8 marks)

1/2015/FTFM (N/S) PT.O.
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(b) The following data is available for Balram Industries :

<
Sdes 2,00,000
Variable cost @ 30 60,000
Contribution 1,40,000
Fixed cost 1,00,000
EBIT 40,000
Interest 5,000
Profit before tax 35,000

Find out —

(i) Using the concept of financial leverage, by what percentage will the taxable
income increase if EBIT increases by 6%.

(i) Using the concept of operating leverage, by what percentage will EBIT increase
if there is 10% increase in sales.

(8 marks)

5. (@ Discuss the assumptions of capital asset pricing model (CAPM) aong with
limitations.

(4 marks)
(b) Describe the steps involved in project planning process.

(4 marks)
(c) How do firms manage economic risk due to fluctuations in forex market ?

(4 marks)

(d) "A firm's stock price is not related to its mix of debt and equity financing." Do you
agree with this statement ? Explain.

(4 marks)
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6. Saswat Dairy Ltd. (SDL) is planning to buy dairy plant costing 400 lakh. Milk Board provides
10% subsidy on the capital cost. It can process milk to produce cheese with the capacity
of 1,800 tonnes per annum. The selling price of cheese is taken asI50 per Kg. The management
expects the life of the plant at 8 years and the depreciation shall be computed using straight
line method. However, the plant can be sold at ¥50 lakh at the end of its useful life. The
utilisation of plant is expected as below :

Years 1 2 3 4t08
Capacity Utilisation 60% 70% 80% 90%

The variable cost constituting primarily of the raw material (milk) is placed at 40% while
the fixed expenses are ¥300 lakh per annum. The company pays tax @35%. The additional
working capital required is 100 lakh.

Find the following —
(@ Cash flows of the project from Year O to Year 8
(b) NPV of the project
(© IRR of the project
(d) Payback period; and
() Should the project be accepted based on NPV and IRR.
(16 marks)

(@)

1/2015/FTFM (N/S) PT.O.
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